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Summation Notation summ-ary =%
Write as a sum using sigma notation.

1+2+3+4+5+6
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Write as a sum using sigma notation: -

6
5+10+15+20+25+30 f

¢=1

5(1+2+3+4+5+6) 5(1)+5(2)+5(3)+5(4)+5(5)+5(6)




Write as a sum using sigma notation:

5+10+15+20+25+30+ ...+ 5n
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Write as a sum using sigma notation: Q\, S)c.- :@

5+10+15+20+25+30+... K>3
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How do you find the area under this
curve from x =1 to x =37

Think of at least two different ways,
then tell your neighbors.



How do you find the area under this
107 curve from x =1 to x =3?

Think of at least two different ways,
then tell your neighbors.




How to find the area under a curve?

Find a method to approximate the area enclosed by y = x2 4 1, the vertical lines
R,
10 x=1 and x=3, and the x-axis.

(This is called “the area under the eurve’) 10
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Riemann definition ol Definite Integral: il fis a continuous function on |a1.h| and this interval is equally divided

. . o ousop b-a . » . . " .
into n intervals of width Ax = T and if x; = a + iAx is the right endpoint of subinterval 1. then:
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lim f(x)Ax = f fx)dx
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Connection between Area and Antiderivatives and Slope

For each function, use geomelry to find the area A(x) under the funcltion [(x) between -1 and some arbitrary
point @ (or, over the interval |-1,x]). Then, find A'(x). What do you notiee about {(x) and A’(x)?
1.
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Now go back and [ind the area under the curve using the FT(:
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